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CHE-06 : ORGANIC REACTION MECHANISM 

Time : 2 Hours] 	 (Maximum Marks : 50 

Note : Answer any five questions. All the questions carry equal 
marks. 

1. a) What is a nucleophile? List the factors responsible 
for the strength of a nucleophile. 	 5 

Arrange the following in increasing order of 
nucleophilicity 

CN-  ,H20 

b) Differentiate between a stereospecific and a 
stereoselective reaction. Give one example in each 
case. 5 

2. a) Complete the following reactions giving the 
mechanism involved: 	 5 

CH3 
 1 

CH3  —C— Br +1-1 20 
1 

CH3  
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ii) CH 3 — C = C — CH 2  CH 3 	(i) "3  ) (ii)Zn/112 0 I 	I 
CII 3  C113  

b) Explain and compare the basicity in the following. 5 
i) Pyridine and Pyrrole 
i) Aniline and Methylamine 

3. a) Explain any two of the following. 	 5 
i) In aromatic electrophilic substitution reaction, 

the methyl group is ortho/para directing while 
the nitro group is meta directing. 

ii) Hydration reaction of propanone is slower as 
compared to that of methanol. 

ii) Iodination of alkanes is highly endothermic free 
radical reaction as compared to fluorination. 

b) Differentiate between photochemical and thermal 
reactions with the help of an example for each. 5 

4. a) Complete any five of the following reactions. 	5 

i) C 6 116  + C/13C0C/ 	 

ii) C1/ 301 (011)C113  Jone's reagent ) 

ii) (cH 3 ) 3 c-cu= cH2  A/C13 ) 

iv) C6 115COCH3  + 

v) 2C11 3C00C 2  H s  Na0 El  

vi) C 11 CI i 0-1 	137.2  ) 6 5 	2 	3 	/n' 

CII3C0013102  
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b) Explain the reactivity of alkenes and alkynes 
towards the electrophilic reagents. 	 5 

5. a) Write the steps involved in any two of the following 
rearrangement. 	 5 

i) Beckmann rearrangement 

ii) Pinacol-pinacolone rearrangement 

iii) Curtius rearrangement 

b) Give an example for any five of the following. 5 

i) Azo dye 

ii) Anthraquinone dye 

iii) Xanthene dye 

iv) Diuretic drugs 

v) Antimalarial drug 

vi) Sedative drug 

6. a) How will you carry out any two of the following 
conversions? 	 5 

i) Phenol into salicylic acid 

ii) MaIonic ester into cyclopropane carboxylic acid 

iii) Aniline into p-nitroaniline 

b) Explain any one of the following. 	 5 

i) Orientation and reactivity of nitrobenzene 
towards electrophilic substitution reactions. 

ii) Role of extended conjugation in the colour and 
constitution of organic compounds. 
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7. a) Differentiate between any one of the following pairs. 
5 

i) Norrish type I and type II reactions 

ii) SN1 and El mechanism 

b) Write short notes on any one of the following. 5 

i) Sigmatropic rearrangement 

ii) Structure and stability of nitrenes 

iii) Diel's Alder reaction 

8. Write mechanism of any four of the following. 	10 

i) Aldol condensation 

ii) Paterno-Buchi reaction 

iii) Michael addition 

iv) Perkin condensation 

v) Wittig reaction 

vi) Wolff-Kishner reduction 

44-0-+4+ 
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	I 1:11:1V.1.-06 

MWR (-with (t.Rizi.M.) 

IOW{ 2019 

ti-11+4 	FOR 

74:RW1.-06 : cf.) I -Rh &RIF-WEI-13n.  tt sht1 I c1 iT 

grrq : 2 }714 	 130"4-c7i 3iT : 50 

gte : fret rev mr4): 	TIC rtri fffl WT7 3ATIR 

1. R-rftr-th-4-6 war 	44-t1e1t1 51Mdclf 
WF-C 	Tk-aZ trN1 	w*A--et-dr* 

	

*IT 4 -arqfrim*t--A71 	 5 

F,OJF,CN H 2O 

ig) f-Afqrr-fq-D-ra aft f-A4-ak 	 * 414 atm11-Agi 
31--)** 	.3qikur 	 5 

2. "WA UN Ala 3#47734 	ttr-471 5 

CH3  
1 

i) CH3  - C -13r +11 20 	-> 

CH3  
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ii) CH3 — C = C — CH 2  — CH3 	(i) 03  

i 
' 

(11)Zn/1-12 

CH3 CH3 

1g) -1 1-1 0 (sic( -4 WCS 	oiRs4if 	 5 
i) fTlktrq -ROF 

is 	 414-d-kifra- 

ii)3. 	-1+-t (Ad 1-th7ti 	1 ceriteigi *rfrRi 
i) 	 catni..i4gi -sr-darrcR err 4 412T 

Ait6 aThilitku fera Jldr t -4-4N -rr*I kriv ler 
Mrs-rd 	ldr ti 
Act,41.144 aTr4r--zrr 	qctir A4-41-4 4 44 	cr 

-cia4ertrwelr 	rir 14 . r..4q r fur 
a,t4-piltft H-4?r 	anWIT TI 

13) to 341-gu1 A srwrcz kithirivt) a 	frzr arrAr- zrra4 
4q rr-A71 	 5 

4. 	PHR/Rgd aifleo5zrra4 4 A iwtttiv x1 91 	1 5 

i) C6 H 6  +CH3COC1 Aic13  > 

ii) CH3C/(OH)013 	aiimak  

iii) (C/13  ) 3  C — CH = CH2  Alci3 > 

iv) C6  Fi5COCH3  TIN 3  ----> 

v) 2CH3C00C2115 Na0  

vi) C 6 H 3CH2CH3  hz, 

CII3COONO2 > 
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11) 	  anwriml * AFr %nr 
aTiNf%-zurca—d-ar 	cekt1.0-if AfXRI 	 5 

5. 	 Vi6d FITh1R4 Wrri: ft;:ei 	Wrgql s 

TrReerim 

fE14-TF- •-kka, (-11 	',Ale 

iii) mfr j.iM 	N 

Pk--Ircilis1 4 4 ?cif TIN* fo-7 ,icr 	r 11-4q1 	5 
i) -k1 ism 

i() 	 •71.11 

iii) 17-211q (M<T) 

iv) ILWF *i) 
V) H4crriltfr atlErf0 

vi) 	 

•1 4-1 (ski 4 A 	t 	ko-rickuir %)- 4,4 arrq vr 
6. 

cr)14? 5 
i) IRr-4-  4 	(14 rich ai-rr 
ii) i)c,4114 g 	A i.i*cry, 	cr4-fr ocrc arrrr 
iii) r 	p--4r-wfler 

130 .1 1-^1 ei (ski 4 A fth-41 kr% %(=t ocricccir %atr-At 	5 
i) ni-R-451 -sfa-RITER aTRTF%-crraTI% 	-11*0.-.11cr 

4 arm U2IT rsb(4140-fl 

ii) chi gig, =rlfgal * 	34-1K eicre.cr tR fad Agn:rq 
lifrrwr 
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7. 	 cld 	"Fttf( "crW 	4174 3.17 WdT-171 	5 

i) RTft4 maw I at Rtio-r wth-rt II 3i-ft-WO 

ii) so at El tr iswecifiTzfl 

(si 	 4 4 Rhkir 	fatwoft ?AR' 5 

1)  fkiiniNich TaR-r4 

aTretrr 

	

8. 	lay faCT:Ri 	to 

i) 	t..,c,- cer 
aiftfoi-r 

iii) 14q k@ 	 

iv) ifth4 	 

v) farm 31-r WIT 

voTe:F -W-gT 3-T9rweR 
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